- Quiz 3A, Calculus 2

Dr. Graham—Sqmre Sprmg 2013
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(5 points) Let A be the region in the first quadrant enclosed by the curves z1/3 = y and
- = y. Find the volume of the solid formed by rotating A about the y-axis. You should

integrate it by hand, but you can use a calculator or Sage/Maple to check your work. Leave
your answer in exact form, not not a decimal approximation.
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(5 points) (a) Set up an integral to calculate the arc length of the parametric curve z = 12,

y = t3% 4 4, for 0 <t < 4. Simplify the integrand, if possible.

(b) If you think you can integrate it by hand, explain how you would do it. If you think you

cannot integrate it by hand, explain why.

(c) Use your calculator or Sage/Maple to evaluate the integral, you do not need to inte-

grate it completely by hand. Round to the nearest 0.01.
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“Quiz 3B, Calculus 2

- Dr. Graham-Squire, Spring 2013
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1. (5 points) (a) Set up an integral to calculate the arc length of the parametric curve z = $2—7,
_ta/'2 f0r0<t<q S.w}alé @J&ﬁm&b—f’l—ch%mﬁ( f’:/dﬂ‘/!f_’:ﬂf

/;7 (b) If you think you can integrate it by hand, explain how you would do it. If you think you
cannot integrate it by hand, explain why.

(c) Use your calculator or Sage/Maple to evaluate the mtegral, you do not need to inte-
grate it completely by hand e of
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2. (5 points) Let A be the region in the first quadrant enclosed by the curves z = y? and = = 3y.
Find the volume of the solid formed by rotating A about the z-axis. You should integrate it

by hand, but you can use a calculator or Sage/Maple to check your work.
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